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PL-2 @)
SECTION -1
LELER |
CHILD DEVELOPMENT AND PEDAGOGY
EIRACEICRCRNERINI]

There are 30 questions in all in this section.
All questions are compulsory.

30 @ § Fel 30 T 2 |
aft we srfEm # |
1.  Which dimension of development is influenced by the theories of Noam Chomsky ?
(A) Language development (B) Moral development
(C) Emotional development (D) Cognitive development
faepTa &1 @9 1 AT A It % g @ fad gan ® ¢
(A) o1 fasmm (B) fces T
(C) et feremma (D) ESHTeH faehrE
2. Individual differences in temperament are basically
(A) Learned (B) Innate
(C) Acquired (D) Cultural X
Tawre 1 saferra feafireand snumeyE w9 3 BT E | e
(A) femtaa (B) S
() s (D) Hrepferh
3.  Who has NOT propounded any theory of personality ?
(A) B.F. Skinner (B) Sigmund Freud
(C) Gordon Allport (D) Ramond B. Cattell
feper =afehca % forell +fi g =1 wicanfea &1 feram 2 2
(A) WI.U%. ThHT (B) Tammvg wE
(C) TS 3Terare (D) Wug . Hee
4. Which test was created by Henry A, Murray and Christiana D. Morgan ?
(A) Sentence Completion Test (B) Sixteen Personality Factors
(C) Thematic Apperception Test (D) Picture Frustration Test
T Ut a2 foRfeeamn €. wita gro s o wdeor fafifa feem e 2
(A) 9T qfd gier (B) HieTg SAfthed 3TAH
(C) AT TIIETIT FI&T0T (D) o= Foat whaqm
5. Which factor is NOT related to growth of a child ?
(A) Nutrition (B) Health
(C) Sleep (D) Domicile
T ST o1 gig & HI A1 Hh Fra-ad T8 8 7
(A) T (B) TR
© fm (D) 3t
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10.

) PL-2

Which test is culture-free Non-verbal test of Intelligence ?

(A) Group test of Intelligence (B) Weschler Adult Intelligence Scale
(C) Bhatia Battery (D) Standard Progressive Matrices
1 |1 T gfgE %1 HEpfa-Teh 3-aTfash wem 3 ?

(A) gfgHa = gz wham (B) 39TeR sk YfgHan At

(C) wfean s (D) Wvee Tfa e

Which intelligence is NOT included in Gardner’s theory of multiple intelligences ?
(A) Intrapersonal (B) Naturalistic

(C) Emotional (D) Existential

Tt gfgmarsti & MR % fagra 3+ €t gigna aftrfea a8 2 ¢

(A) Ia:afes (B) i

(C) wEfH (D) T

Creativity is associated with which kind of thinking ?

(A) Overthinking (B) Meta thinking wrE
(C) Reflective thinking (D) Divergent thinking OF 534
THATEHHAT T & i © TR & graf-ad g ?

(A) aTcafess fam (B) arfu-famm

(C) Tomsft famam (D) 3uETd famam

The term mental retardation is replaced with which term ?

(A) Intellectual disability (B) Mental weakness

(C) Intellectual backwardness (D) Intellectual disadvantage

A famfea ug =1 fohe ug & ary ufqeenfia fFmmn 2 ¢

(A) wifges Emaar (B) WM& AT

(C) g fusemm (D) g fasperal

Which of the following is NOT true for the theoretical concept of personality ?
(A) Stable (B) Normal

(C) Enduring (D) Unique

SAfthea i FgTfh JEaron & ol A a s M & 2 7

(A) fer (B) T

(C) =urht (D) 33T
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11.

12.

13.

14.

(5)
Learning disability related to reading is termed as
(A) Dyscalculia (B) Dyslexia
(C) Dysgraphia (D) Dysthymia
UG O T e AqHarhl R AR |
(A) fewperpiern (B) fewifagan
(C) feaftean (D) feramsfian

Children who are deprived of minimum basic facilities are classified as

(A) Delinquent children (B) Special children

(C) Disadvantaged children (D) Backward children
IAAH LT Giagnati & afea arereni o1 = w9 1 affa foran sran 2
(A) 3t TR (B) Tafse ser=

(C) e aftfeufora s (D) Tuse s

Which of the following is a behavioural symptom of maladjustment ? E=Em

(A) Aggression (B) Anxiety ¥
(C) Insecurity (D) Apathy

1 o ¥ 1 1 FEARISH 1 GRS T & ?

(A) AT (B) T

(C) g (D)  SerEfire

Which method is NOT directly related to children with special needs ?

(A) Diversity of curriculum

(B) Development of sports and extra curricular activities

(C) Different teaching methods

(D) Training for special activities

feraIy StTerwaehe1 3l aTet STetehl < @19 i i farfer sreae &9 & grafa 76 2 7
(A) HTSIHT 1 Tafreientor

(B) Wetehe d Jfdfes wrgashn niafaferi w1 fepma

(C) Tira forequr farfirart

(D) T nifafafer 3 fo aftvem
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15.

16.

17.

18.

(6) PL-2
Classical conditioning theory propounded by Ivan Pavlov explains learning by
(A) reinforcement (B) association
(C) imitation (D) insight
3 dfaea gr gfaufea el sa-aa fagra sifirm =i fre & g ameman 2
(A) T (B) ®E=
(©) FH (D) 3rfe

Which of the following is NOT a process of learning for children ?

(A) Reflection (B) Argument
(C) Maturity (D) Imagination
ot 1 8 o of aTere 5 ford orrm o e 7 2 7
(A) fafaem (B) @&

(C) uftae=ar (D) el

The concept of reward and punishment in learning is introduced by whom ?

(A) E.L. Thorndike (B) Kohler & Koffka

(C) B.F. Skinner (D) Albert Bandura

ferTe # qUEhT 9 gUE 1 STaUROT fohEeh gRI FEdtfad 1 TS 8 7 -
(A) 3T, UHEES (B) “hIEeH o HiFhI E
(C) f.u%. ®=hT (D) 3Tce gl

Which statement is NOT true for the concept of learning ?
(A) Learning is the change in behaviour.

(B) There is a relatively permanent difference.

(C) Learning is influenced by practice.

(D) Learning is an innate mechanism.

Aferre <61 SFerron % o B @ HyT T TE @ 0

(A) e SR § afedT & |

(B) 3Terehd &9 & T 3= uftetiérd B 2 |

(C)  afermm 37samg g e BT 2 |

(D) 3T e S=AeiTd Uik & |
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19.

20.

21.

22,

(7 A

Concept Mapping in Education was introduced by whom ?

(A) Carl Jung (B) Martin E. Seligman
(C) Noam J. Chomsky (D) Joseph D. Novak
forer & sravron aefeEwn fraes g genfaa foen m 7

(A) It (B) wifé §. dfermi
(C) . Sl (D) 8% 2. Tamh

Which type of teaching is NOT based upon objectives of teaching ?

(A) Cognitive teaching (B) Descriptive teaching

(C) Affective teaching (D) Psychomotor teaching

Treqor =1 19 @1 R e & Iewi T T2 2 2

(A) EHTeH f3remor (B) aviHTeHs freqo

(C) wrETeH e (D) HANTCATCH fareqon E E

A group creativity method for solving specific problem by gathering a list of ideas
spontaneously is known as -

(A) Brain storming strategy (B) Mastery learning strategy
(C) Problem solving strategy (D) Heuristic strategy

Aafiferar & fommi i g=ht % uam = g fafrs awen & guram 6t v s fafa &
e 1 B

(A) wfers faera 3fe (B) Tarfica ferm gfth
(C) |wEr gugH Ifh (D) =9 I

Which process is NOT directly related to role of motivation in classroom learning ?

(A) Knowledge of progress and result (B) Interpersonal adjustment

(C) Praise and criticism (D) Level of aspiration
e e 7 st <6 siftrent form foran & wower w9 § wrafea 78 2 2
(A) ifa dem gftomy st = (B) 3T<Iag ther THRISH

(C) ST T ST (D) 3TeHiaT &/
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23.

24,

25.

26.

) PL-2

Which is the main philosophy of National Curriculum Framework — 2005 ?
(A) Learning vocational skills (B) Learning without burden

(C) Learning co-curricular activities (D) Continuous and overall evaluation

Y argE=ral ER@1-2005 H1 & A R1E 7
(A) SAEHIRIS HITdT HGHT (B) ferm e & din
(C) TE-Nefores nfdfaferi ®i @ (D) Tdq oy SIS Jodihd

Which statement is NOT true for Right to Education Act — 2009 ?

(A) Free and compulsory education for every child between 6 to 14 years.
(B) Provision of School Management Committee.

(C) Constitution of National Commission for Elementary Education.

(D) Minimum 60 hours of work per week for a teacher.

forem o srferepme stfrfam-2009 o o % w1 em g T8 @ 7

(A) B: ¥ <Icg 99 o Teush dTereh o ford F:3[e @ srfamd fran

(B) foremera yery wfufy =1 wagm mEE
(C) et Torer = fort Tl 3T 1 A EE
(D) 31EATI o fort wfa waTE =gad 60 9vei 1w

Who has NOT contributed to the development of Action Research in Education ?

(A) Kurt Lewin (B) B.R. Buckinghum
(C) Stephen M. Covey (D) Stephen M. Corey
Torem % forarenss sgEa™ o fasma # forae amem 72 fan 7

(A) e Afed (B) ff.3. afhem
(C) WU, &id (D) THATH, &R

Which level of measurement is least used in educational psychology ?

(A) Ordinal scale (B) Nominal scale

(C) Ratio scale (D) Equal interval scale
Tt wefersr o o Tt o wTa B =am s e ST @ 2

(A) HEEES AT (B)  fires ot

(C) 3R Aot (D) UM At HTa=T
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27.

28.

29,

30.

9 A

Which of the following psychologists is NOT related to theories of child development ?

(A) Jean Piaget (B) Abraham Maslow
(C) Albert Bandura (D) Lev Vygotsky
For TR & 8 arer faehTa 3 fergrdl & vt 7 8 7
(A) S frars (B) 3TSTEH HiEl
(C) Feae Tgq (D) o= e

Which method is NOT valid to study the role of heredity ?

(A) Twin study (B) Parent-Child analysis

(C) Adoption study (D) Peer group study
STTaeTeRar 61 yfieh & e o fod i fafu du A 2

(A) Sgal sl 1 e (B) FAfirrah-areies fareryo

(C) TTOH-TBY T (D) THIIEh G AW EEE

The observable physical and psychological characteristics of an individual is termed as

(A) Prototype (B) Karyotype

(C) Phenotype (D) Genotype

e Sif 6 feard 21 Al 2w qo wAEE oA B % w9 3 wfenfid R
AR |

(A) SeTeRT (B) TS

(C) TSy (D) Sfirersy

According to which perspective, child development reflects a specific and prearranged
scheme within the body ?

(A) Environmental (B) Social

(C) Biological (D) Psychological

foper TSIt 3 ST aTer T T 3 31t e fafire e e te Soeht 5 qut 2 7
(A) AR (B) @I

(€) e (D) TS
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31.

32.

33.

34.

35.

36.

37.

38.

PL-2

10§ PL-2
QUg — 11
TST - 1
fe=dt
THEUEH FHA 30 T2 |
ft wva famd 2 |

Elce U
(A) I (B) faex
(C) faeea (A)wd (B) GHI 1 2 | (D) 378 AP T

ST ST W 3969 Ud A T § S Bl 98 el 8

(A) THTEATE qT (B) 3TT¥a U

(C) TehaTeish Iuar (D) VU 3T

2t IBTEAT TaTaR H1 37 B ;__E]:
(A) 3qHTi=E AT (B) Tousht wg&a w1

(C) & T (D) ©H W@l

W -7t § Sffe faarn @ 312 o 3ugs dArepifaa &

(A) A9 T@ WHT 98 (B) 379t ST IR 3T

(C) 3Te FHferd =t Ior (D) 373 IR F =ER

ferenfelai =1 qeaest < ATem | W ) gl et v fafy s s st 39 e o %
vt 1 g&t ferar srar 2 | 5w fafu S et 2

(A) ST ST fafy (B) et w fafy
(C) IA-Tsh fafy (D) @ fafy
ST UTTeA! o1 3ATfershr foped fopam 2

(A) foreafesa (B) SeeAd

(C) wweEh (D) UTHEL A
A 3T < AR Rrer Ft Bt whren # afmfaa e 2

(A) FE=fHT (B) AR Fam
(C) SR (D) =IEER aftEd
Gl FCIE 1 T I R 7

(A) 3o forad aea forere fommeff it gema 7 6L |

(B) 3ToTE &R FieTeht for@amn Sy |

(C) 3T H 315 ! S1ae J€t &t g1 =nfae et fop ammest crg H 1 |
(D) 39 Tt fheq w1 2 |

(11) A
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PL-2 an A
39.  weT-fverer =1 gea- o |iuE B -

(A) fu= feames 33 (B) TGN
(C) =i (D) TehieRTo
40. TTH T I & =N w9 A gieferd v T 8 —
(A) T (B) Tow wmmft
©) foeg (D) Feft
41. frafafad § & o raheE HT A BH AR ? —_—
(A) e freqor # gfd (B) T % fofu 3tem e

(C) fwea(A)wd B)EHIEAE 1 (D) 0 A HE TE
42. T & wifiges qdensii w e e -
(A) U fneres weh oHa § U & B <A wlieT of Tehdl 2, 3d: GHT 31 ar R |
(B) wiftges wdtenati sl s T SR S Hehe |
(C) 3 ahienati @ faemefl & 1 v S — g, 9eq 3R Sie w1 T a1y are fea
ST ThT 2 |
(D) 37 whiensii & fareneff 3 oraa Sivrel o1 7o 781 o Gk 2 |
43. frafafga 3§ & suafes wheor % fmfo dg eftf@ @i f A SR arve T2 2 7
(A) T IS §HMT | (B) utequr & WRfeh &Y shi T&A1 T |
(C) Tdreror =1 GO (D) TEreor 1 ST
44. Haq Ud AT o1 T HI Y & :
(A) 3Tcq gUAT=R 1§ B gt giten () @ faaefi @ 9 srermsial &d # |
(B) Toreqer faremeff 1 smavaes fdem v wmel i gd wd 2
(C) Toemeff @1 31 =i %1 7 iR Bt @ 2 |
(D) Teremefi WAy W wdienr &1 w1 w1 1@ B, Forwd e w@nfass fas yanfad gran g |

fraferftaa Tene o YR W 9 ST 45 § 54 T & ST 9T

FEA: T G WHIIE TG S Bl | 91 ohgeh W U 3R 6 i 0, e H
AR, G B @ WS FAM H s JR ABLFAT 5 AN HI G6F &l 2 d gadl AR
TEHTeHhdT 1 eaTd &al & | e sifees o et g, a1 €t sifess 92 3ot gamEt &1 ufaty
A L T, &1 31 & 37fersh Thet 2rft | $8eh STER J8T1 W U a1d 98 o Tmer =nfeu 6 5a
TR foam 1 Tafed um, a9 98 savas @l @ fh 36 A1 had 3a & s A f w
et fop T @ qd it watE 1 wfeud i 7 oft | Hron 98 2 o wafed B9 H ufrn A sw w
a1 gard o M | 39 T8 g 39 TR 3T FH 9¢d TR, T8 WH fAU 9 1 HE
TIEE T 2141 | T2 d T 3§18 & ST a1 2 o 9 T R 8 | A # shennhta § U fafgand
& 2, 3R 3aH UE seEmd o 2t 8, s ufe @ e ws B El 98 v A8 | 98 S
& AT 2 o6 W i3 fraw 72 R T w1 9@t 3Tk 3o € et fa oree ¥ =mE B, 98 5 %A
1 31ftres oft dier Gepdt 8 3R FHefi-wur fdia off Se Tedl 2, 39w B9 98 8 | IH 3E=ad &
TaTd 39 it i e W i 379 g9TE ST @ | qoTEt ST had & fob “feraa e, ferfean wg”
97 TEI B | TP Hoteh 1 GHET I3 T & a1e o, it GrEft & I A que’ g o ey
AL TR TE T |

New Section 1 Page 9



45.

46.

47,

48.

49.

50.

51.

52.

53.

54.

(12)
IS TT6g It b UL TE —
(A) e (B) dceH
(C) feresft (D) <
G T qATIATH I6E & —
(A) T (B) ¥
(C) =TRh (D) T/
“Forereht Fere1 o &9 1 7 g3 8l | aren o fore 3uged wes 2 -
(A) wHd (B) A
(C) wafed (D) e
‘ITMEvIH’ Ieg H1 It wreg s o forw hia @1 3wt wge grm 7
(A) (B) M
(C) 3m (D) 31
A’ weg # Fg T B -
(A) = B) &
© = () fr =S
“Fafearel’ wreq o wfr & —
(A) FuEfY (B) @ @fy
(€) Tty (D) dFfgfu
Frafafgs sl 4 @ s T 2
(A) Jfersn (B) v
©) w (D) T
‘FTEN WIeE W B WHAE B 7
(A) FrFfi-vE g9T™ (B) %N gHE
(C) gguwE (D) fgomm
g8’ vIeg W T 8 —
(A) TrvageTes g™ (B) TEYETES G
(C) Tastaras gdam (D) AMTe=ETEs TeI™
A T A B GR 7
(A) SAfRTeT= S (B) iferar=es G
(C) TEgaT=s Gl (D) raaT=eh &

New Section 1 Page 10
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55.

56.

57.

58.

59.

60.

(13) A

frferfaa memer 3 3mUR 9T 99 HEA 55 T 60 T 6 91 o I SIS

T, Y, TEYER 3TR &1 Sl WIaFT Sl TP &Y <okt & GehividT & s= A1 Jhal & | Tt
% TP 51 & AT Y § 8 Fi1h 37 T} Teehi 1 31feaea TP & SRV & T9a & | Tg 2 1 fafi=
wraTd &, o 8, T & 3fi st 8, ar: g % faa § w8 v auwenstt i srcafe o TE
T =ItE | WfEe g I8 S @9 R Hiife arfecd U gedi 1 a1 7S w1 fauredt 2 |
a8 =Hfea &1 fafv= st 4 fawfom 78 @ | Sfaar 1 9y’ § sedt 89 i @fid 8, 09
e a1 Arfeed 1 37 faenati g smeHt i 3TeHt | ST S TehdT & | I8 H1E IR o gan
2 W 3T A 9E nft fewrd 7€l T | e 3 mifeey @ 3R Stfe yEmR-vEr g
TR | AT Hfa-THeH, Farg, AR T2 S=i-amaisi & gh gd 39 ¥ WeR JeTd
3R GHE T AT FAAT SRR 2 | FHTER, TE-ueR, e, gee, fhen snfe mem
78 1 L T B 3 3T 31at oft o T B | Tret g qrer’ s T safa w1 st
HAT B qUT AP & Iid 80 T=aq 8 & o0 I a1 8 | 351 UK & T Ife qresies
T, Tifec Teumd L a1 QY B W Tehdl o T W a1 Tohd 3 |

Sfaat ITeg 1 Uehar= &I

(A) St (B) T

(C) St (D) wfa -
Gl

“femmrct’ wreg w1 312 2

(A) Thien (B) 9Tt

(C) 9ergrel (D) 3TmTfaa

“FIH IR M TS @R |” AT T HH AT HA B 7

(A) TS T (B) 1Y SomE

(C) ool JdH = (D) T TAH

foum g B -

(A) Ivafem (B) gfeerT

(C) TqEhicHT (D) Efem

‘Sl wIeg 1 SgaE €9 & :

(A) =AfFT (B) =fdae

(C) Al (D) Safae

TSR & ‘YT 9162 &1 HH fg=el €9 2 :

(A) W& (B) T

(C) wmm (D) W&l
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31.

32.

33.

34.

3s.

36.

37.

38.

39.

40.

41.

(14)

SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Words that are understood and constantly used form

(A) limited vocabulary (B)
(C) passive vocabulary (D)
Dr. West’s comprehension test was

(A) non-linguistic (B)
(C) comprehensive (D)
Variables can be interchanged in

(A) Simple substitution (B)

(C) Grammar (D)

active vocabulary
constant vocabulary

linguistic Ot

structural

Compound substitution
Phrases

PL-2

‘New words at early stages should refer to objects and actions which can be shown and
demonstrated in the classroom’ is a precaution of

(A) Structural Approach (B) Situational Approach
(C) Bilingual Method (D) Direct Method
The exercise of listening skill is
(A) Sports commentary on a radio (B) Advertisement board
(C) Pamphlet (D) Poster
Which one of the following is a measure to improve bad handwriting ?
(A) Use of ball pens (B) Wrong habits
(C) Proper posture (D) Writing carelessly
is not a technical characteristics of a text book.
(A) Proper spacing and margins (B) Good quality white paper
(C) Lengthy texts (D) Readable size of the letters
‘Blackboard’ is the aids for teaching.
(A) technical (B) cheapest
(C) modern (D) physical
Audio-Visual aids save
(A) money (B) interest
(C) effort (D) verbal input
Students improve their critical thinking in
(A) peer assessment (B) portfolio
(C) cloze test (D) writing tests
CCE is carried out in classroom.
(A) strictly (B) formally
(C) informally (D) timely

New Section 1 Page 12
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42.

43.

44.

(15)
CCE is not successful in
(A) private schools (B) crowded classrooms
(C) small classrooms (D) government schools

For a good test in English
(A) language must be lucid and clear (B) the text-books must not be used
(C) the questions must be complex (D) the questions must be simple

‘Matching Test’ is an example of
(A) Short answer type (B) Long answer type i EI
(C) Essay type (D) Objective type (=l

Read the passage and answer the questions (Q. Nos. 45 to 49) that follow :

45.

46.

47.

48.

49,

A marriage as early as that was the last thing on her mind. She threatened her parents
that she would never marry if she did not get a proper education. She left home and got
herself enrolled in a school in Delhi. When her parents refused to pay for her education, she
politely informed them of her plans to earn money by working part-time to pay her school
fees. Her parents then agreed to pay for her education.

The synonym of ‘refused’ is

(A) granted (B) denied

(C) permitted (D) allowed
The antonym of ‘politely’ is

(A) courteously (B) humbly

(C) rashly (D) angry

The correct spelling is

(A) acadimision (B) academician
(C) acedamician (D) academision

The verb form of ‘enrolled”’ is
(A) enrol (B) enroll
(C) enrollment (D) enrolment

‘Part-time” stands for
(A) working less than standard hours (B) working in parts
(C) working in obligation (D) working for no remuneration

Read the passage carefully and answer the questions (Q. Nos. 50 to 54) that follow :

50.

Friends had conjectured that the bear would not recognise her. I had thought so too.
But while she was yet some yards away from his cage, Baba saw her and recognised her.
He howled with happiness. She ran up to him and petted him through the bars, and he stood
on his head in delight.

‘He howled with happiness.’ The underlined verb is in tense.
(A) Present Simple (B) Present Perfect
(C) Past Simple (D) Past Perfect

New Section 1 Page 13



51

52.

53.

54.

S55.

56.

57.

58.

59.

60.

(16) PL-2

She ran up to him and petted him through the bars. The underlined word is —
(A) interjection (B) conjunction
(C) adverb (D) preposition
Choose the conjunction :
(A) her (B) within
(C) the (D) but

EXmE
The determiner is Ea
(A) and (B) had
(C) the (D) up
Choose the correct comparative degree of ‘happy’
(A) happier (B) happiest
(C) more happy (D) most happy

Choose the right question for

She sold all the articles for no profit.

(A) Did she sell all the articles for no profit ?
(B) Did she sold all the articles for no profit ?
(C) Does she sell all the articles for no profit ?
(D) Do she sells all the articles for no profit ?

Choose the active voice of

Saina had been supported by her maternal aunt.

(A) Saina supported her maternal aunt.

(B) Saina’s maternal aunt supported Saina.

(C) Saina’s maternal aunt had supported Saina.

(D) Saina’s maternal aunt had been supported by Saina.

The saint chanted, “God is great.” The indirect speech of this sentence is
(A) The saint said that God is great.  (B)  The saint told that God was great.
(C) The saint said why God is great. (D) The saint said whether God is great.

The word for the phonetic transcription / I'mi:diatli / is
(A) emidiately (B) immediately
(C) imitate (D) immediate

The number of vowel sounds is

(A) 8 B) 12

©) 20 (D) 24

“The knowledge can be stored in mind permanently.’ This principle is termed as
(A) Aptitude (B) Gradation

(C) Concreteness (D) Selection
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Qg - 11
T -1
HEP,
313 Frwrq o |f = |
31. T@ifgd TeHtse FeAfmiv % ;
o gerr sperfar |
(A) o e peafa | (B) o e speafa |
(C) Tuar &=z Feafa | (D) o & speafa |
32, ‘U1 E: U9Ad areRIfie SN |
(A) T =g U (B) WA = g9
(C) =l == oafd (D) T =5;: UYAIY
33. eI Mg 81 397 @I gd U S |
(A) &Y (B) =m
(C) &= (D)
34. faeansgaq | oo™ gfd %4 |
(A) AATT=Bfa (B) 379
(C) TBfd (D) s &
35. “ceasr S 3fa @y fafim aaafa 2
(A) TmETERfafey (B) ImmH{FHAfafeR
(C) weefafey (D) aTatemafafan
36. “Tyerq g wia” st forg=aa 2
(A) Toreorgm (B) UTSATSAT
(C) afepm: (D) 3AfrsRoTy
37. EEEHAWTNTIeRTET T i Hisrer ?
(A) 38t (B) Tl
(€C) u4A (D) &
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38. EEHATIEUE HHETEAY : IE: ?

(A) ¥IMYIE: (B) WHfq

(C) wifepfa: (D) wfi-31firene:
39. TeATEAE YHTHihd Ufafey SreeRaia: THE: A AfE ?

(A) ToaRgaudiemam (B) HiRashaiammy

(C) SRRy (D) TEATHIEET
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(A) srarEe fagr: (B) Teramsfierarn: fagr:

(C) = fagr: (D) forgvem faerm:
41, HATTHATGY: 9UH 9y 35T —

(A) e (B) 3EEH

(C) fem: (D) Tteqoryg

42. ST gt fien SiremieT —

L

(A) oG (B) #av

(C) ar=Aq (D) WS
43. Hadqeatgd Merser gerer fe wafa ?

(A) TEHATiIAEY (B) WU

(C) aug (D) H&TH

44. ‘TEIEE vATd safer fae gufed grammfe -
(A) detd1 (B) wwm™UH
(C) @ (D) ZEvH
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SHa¢ e Hmmafd drerd: af<t g gaw vy 7 <o ufa dhevegareafa | adie: g
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50. “SH9e” 3oud 1 fawfa: ¢

(A) WwE (B) T

(C) w&Hr (D) Gt
51.  “gwaf<” oo grqifed —

(A) 2L (B) 39

(€) T (D) 3
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(C) g (D) i
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A = B) =*

© 4 D) ¥

3 waf< —

(A) SASHTH (B) &
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62.
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Qs - I11
qEr - 11

e

THEUEH FHA 30 T2 |
aeft yea a2 |
fr=ferfiaa v st Tgeht Y97 T 61 | 65 T o T¥HT & I G ;
F1eft @ F1eft @ U, fre T wER e A |
g R g2 I, AR oig! defdi ¥ |
79 ¥g fiR, 719 que fiR, %2 e 3rat W s il |
Ted wied 3T 3ve iR, y W 77 faee fague i |
TaTE HERT S TET, shael 01 <hl 7 THTE o7 |
92 IS IS LT AT W, T8 W T T @47 o7 |
TRt <Ideh T G-, AT T TEaTe oA |
& TR I |1 -H1Y, HHI & Hre o |
-l Thel M- L, Tdeh &= T e o |
U SAT9 < 1S |, T AT &A1 1 T AT |
i = seff <raes @9 W, TOM JaTY < HIST AT |
I8 S @1 TR W, I1 STEAH T ST o7 |

RN Y19 fehtreh T & ol & 7

(A) TR & HT&TH 6 | (B) T % 3Tehiefi & |
(C) el §HT WH 68 % | (D) 399H & difga & |
HTE 1 a1 § TeTl 9 &l 3799 2

(A) W& O THM M |

(B) oSt &1 1 IS(E © HIST IS T&l 91 T T |

(C) &9 % FMI |

(D) =i ST g1 % Tt ST & THTE dsi 3 2 T8 o7 |

fafafga A a fra uf A g Eigd 2 ¢
(A) HETE Ll W Tel, sherel T 1 T T AT | —
(B) Firan 7 ft <qek o 9, TOT FATT 6T HIST T | o

(C) TT9TT YT < 1S H, TS 7T &4 1 ITeAT o7 |

(D) &3 %ve fiR, 7= que fiR, &e ®e et mpe fit |
IR TR <hT T

(A) 3™ dier=re 6 7= | (B) < wreg yuH f&=t |
(C) Torexft wreg wum &=t | (D) o vise veH fa=d |
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TS § geta: afvfa 2 —

(A) gty <hi 1emed g UE JgEE 1 g |
(B) W Tz gRI HERION JdT9 %1 3199 |
(C) =raeh i farfererar |

(D) W T8 1 37379 |

“SIIE 3T oy feket || A B
(A) Teharde 9T | (B) =oreie a1 |
(C) faerar=re am | (D) EWTEATE AT |

‘St ST BT JETa H AL 2 :
(A) 3T st fehetr | (B) < fe@m |
(C) HR-BiCH | (D) Fefl T | S

‘Tl Ik F GEY H I HIA 8 El
(A) hal Heh H A AB@I |

(B) Tor1 &3 916l 1 SATHTOT | el Sk Had & |

(C) hal ek H fersfera sh1 ST Tepvieh f3raT o &1 Ydehrel o €1 BreT 2 |
(D) hat 1 Inifeceh 319 B W18 |

fraferfiga o ard famm o forg v fomar 2

(A) ! B) ,

< ; (D) 1

Sffereft wreht freoft’ T gerer w1 HEl A R

(A) Frcafess @ B | (B) wneff B

(©) T o= fermm o o T | (D) 3T T&d T |
e e rgfa S e d adt a2

(A) 38 g 1 IR HTeied arrEH § R |

(B) SHT ATHHUT 3THIHT & foeeht & & TN B § §3T |
(C) & ugfa smerfires fram < T ot wgaa 1 78 |

(D) 3w Tl HYA T 2 |

TR 3UTTH ST 371 =19 8

(A) eaf fmior 3qmm | (B) 318 T34 IUTH |
(C) dTed T34 39T | (D) aTe & IYTH |
Ste ien fafer forg sl <aran = foshra & sge &t 2 7

(A) e el | (B) dTeA & |
(C) dT= <& | (D) <& g& |
TR 9T o HaY § 0 FUA R

(A) TE SicTeht fepm AT 2 |

(B) 35H e I AT TadE B A2 |

(C) ¥ fowarg i it & 78w % o fore fopan ST 2 |
(D) T2 DI HeT3AT 4 T 8 % foru 1feres Iwanfi 2 |
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75. 1A~ 1 3¢ Al &
(A) Terenfefat € shea wifea =t faepfira = |
(B) ferenfelat gro faar ferfereran 3 Sieft ferfirran & gota o5emm |
(C) faenfelat & s i w6t Hifira e |
(D) ferenfofar o wamem o gfd & 3c4=1 T |
76. 1 e & form TETER g0 91 ISR, 9T TEEAT TS QT aTdierd Tt & wierm |
g S g
(A) TTHEIGH | (B) e |
(C) e fage | (D) ToA=TR |
77. &= Toeror o faenef 1 onfefeoes sifieta 1 s@m areh Rt o fafafga @ @+ =t
gftfera T & 7
(A) g TER | (B) 9T |
(C) e i | (D) FhIE-=TEm |
78.  “Hodiehd hl UGHIT it SAahdl B % A SAfdded W 3T TR F1 IJeor@ Hdl 7, 7 76
3Gkl haet difgeh ITAfeY &1 |” Yediehd & Ta9 1 39 HU foraert 8 7
(A) FIEIT | (B) U gfgam |
(C) WEaIT | (D) TE3ME |
79. ?ﬁm%ﬁhﬁmﬁﬁsﬁﬁ,aﬁqﬁﬁwmmﬁmaw%mm
?

(A) gfg Tl | (B) 3qcifed wdieqor 1 |

(C) =Afeaes wligmr 7 | (D) 398 | IS &l ERE
80. STERICH 18107 7] TEC STTEvIH & G

(A) ITaTIcHe e &g Ffeaa wferen | (B)  Frgmress whiem |

(C) fafsre w=mrens fareqor | (D) 39 § 1S &

Freferfiaa wermer < maR T yv G 81 § 90 T% % IT I -

W 1 39 FEAT H1 GRER FAN: BT A1 @ | S-S A TG H ARRA BT @ -
IGh! TS Gord! A 8 | §0 THR 3T TH-9cA, TF-T I IL-9 1 I15 % 1Y 98 §:F
BT AT BeTdl IAdT & | THET I -1 ! A1 & {8 1 T&1 560 81 8 | A1 &1 99 a1 374
g $D G2 T 2, TR Y s ot oy % fore wm: 7 @ E R W sy o fore wgsy 6 v e
BT | 3@ W o P o g1 Wt T fewr g0 | 319 WA o g Bl HH0 ATSA F ¥ | g |
L hefel ST U2l # b gi@-g ohi fafirat wiga 1 3t sifeet &1 7 § | et @i ©9 sga-d
ST o fieR & AT B | 379 39 S1a <l 37T a1 &l Wdl b I TRkl TR BAN R, T4,
-, FE-U B T A, W 91d BT GH Tl & (o DIg Ahell Earaal, S TRl 3T
HA F891 % I H T aLgA A 9fga T HLE | GFI a1al 1 IHOMH UH & R | GyIal i gdaE
feufa o ve =afaa =1 gt =afdd & 9|1 o 1 721 @1 981 98l @1 a1 91, W U i i gadl ifa
H, T o I g8 < H, 9 & Tl wror wfafda g e # | gee o weet oui & o9 srd-ged
61, guet 37 Feer g9t & offg sref-siwor <A ufsran Sata 9o @R U &0 i o T8 2 | 39
Trav aftngfa & sae s 4t 7 g afe el 3 a& ¥ 31 A e w@dt | /IE I
o S BT facTaror GeFi 8 T B | SdAE AATIIE i e o it we % fore ameed & 3= 3R
ufers 3TTEt 1 oot aaTarEe i wfET savae # |
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frafafiga wsgi & @ wreg -1 § 98 I |1 3rse 3T ?

(A) A (B) 3

(C) 3i=TE (D) 37T

“afersr’ w1eg 1 TE iy -fa=sg g —

(A) T+ (B) 9+

(C) @+ (D) W+
‘el vree § 39 & —

(A) 3 B) 3

(©) 31 (D) I

“SeReEd ITeg 2 — R
(A) | (B) oo ¥
(C) dewd (D) feoexft

gfafid T d R T ITT R ?

(A) faa (B) s

(C) = (D) <A

‘Jget’ weg H forar-fasmor 2

(A) TUHETES B) Hfqar=s

(C) ufEmETES (D) HiciETEs

(A) TEESE (B) TETEl

(C) weHt (D) 3G

ST UEA T AT AT || I H e & —

(A) TAHH A (B) @I

(C) s e (D) BIRTHE ahIe
Frferfiaa 3 & fora o § wft wree gfeem € 7

(A) M, 91, =T | (B) 99, I, 9147 |

(C) =, 5, A | (D) 34, W, WA |

“ITHT &ITHNH FY Tga-H TN 5 i & T |7 a1 § WG FEd I B
(A) Tafvea afmmoEmEs faemo | (B) Tehaaraeh a9 |
(C) ffvad afmmoreTes fasmmor | (D) T fosyo |
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(41)

SECTION - III
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Choose the correct Modal Auxiliaries to fill the blanks for Q. Nos. 61 & 62 :

I swim across the river when | was young. (ability)
(A) can (B) may

(C) could (D) might

I thought he be at home. (possibility)

(A) might (B) may

(C) can (D) will

Prohibition is “gall and wormwood’ to distiller.

Here ‘gall and wormwood’ means :

(A) helpful (B) hateful
(C) hopetul (D) wonderful
He ‘stood his ground” against adversary.

Here *stood his ground’ means :

(A) stand still (B) did not fall

(C) maintained his position (D) maintained his game
Petrarchan Sonnet is also known as :

(A) English Sonnent (B) Italian Sonnet

(C) French Sonnet (D) Shakespearean Sonnet
Plosives consonants are :

(A) |p,b,t,d| (B) |[tl, ds]

(©) [m,n,n] D [£v,0,9]

Which is palatal consonant ?

(A) |h] (B) [9]

© 1jl D) 1]

The phonetic symbol for underlined letter in the word ‘tile’ is :

(A) et B) o]

(C) |Ar1] (D) |ar]

Phonetic transcription for the word ‘hang’ is :

(A) | heing | (B) |hap|

(C) |heng| (D) [ham |

Phonetic transcription for the word ‘jester’ is :

(A) | dzesta(r) | (B) |jesta(r) |

(C) | dgersta(r) | (D) | jesta(n) |

Which one of these is not related to passive vocabulary ?
(A) words are recognized.

(B) words are understood.

(C) words are often used in speaking and writing.

(D) words are never used in speaking and writing.
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Motivation is a process of :
(A) arousing interest (B) maintaining interest
(C) controlling interest (D) all of these
Communicative approach to English teaching means :
(A) Informal approach (B) Group competence
(C) Communicative competence (D) Communicative appearance
How many components are essential in the process of communication ?
(A) 3 (B) 2
(C) 4 (D) 5
The communicative approach in teaching of English has been practiced and developed in :
(A) India and England (B) Indonesia and Japan
(C) England and America (D) China and Japan

Multilingualism in classroom can be used to : (Choose the irrelevant option)
(A) teach all subjects

(B) teach about diverse cultural groups

(C) teach only languages ERE
(D) teach the lesson of equality between cultures E¥3

Which one of these is not a part of remedial teaching ?

(A) Teaching afresh what has not been taught earlier.

(B) Teaching afresh what has been taught earlier.

(C) Suspending the part of learning the new items.

(D) Preference to reinforced practice of forgotten parts introduced earlier.

Which one of these is not a challenge of teaching English ?
(A) Determining the goal of language teaching.

(B) Several methods in language teaching.

(C) Large class size.

(D) None

Written Tests and Examinations are not meant to test :

(A) Vocabulary (B) Translation
(C) Pronunciation (D) Composition
The concept of evaluation was introduced by :

(A) Dr. West (B) B.S. Bloom
(C) Thompson (D) Wyatt

Read the following passage and answer the Question Nos. 81-85 :

“Wind energy” is derived through a process where wind is used to generate mechanical
power or electricity. Wind turbines convert the kinetic energy in the wind into mechanical
power, which can be used for specific tasks (such as grinding grain or pumping water). A
generator converts this mechanical power into electricity.

¢ ’ may be an appropriate title for the given extract.
(A) Kinetic energy (B) Electricity
(C) Generator (D) Wind energy
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43)
Fill in the blanks with appropriate linking devices which are given below : (for Q. Nos. 82-83)
Wind is used to generate __ mechanical power electricity. (According to the
passage)
(A) either —or (B) but-also
(C) neither —nor (D) so-—as
__ Turbines __ generators are used to convert energy. (According to the passage)
(A) neither — nor (B) both —and
(C) but-also (D) as-—as
A generator with turbines mechanical power into electricity.
Choose appropriate verb to fill the blank :
(A) convert (B) have converted
(C) converts (D) are converting
Mechanical energy and electric energy the different forms of energy.
Choose the correct option to fill the blank :
(A) are (B) is o
(C) have been (D) was Do

Read the following stanza and answer the questions : (Q. Nos. 86-87)
What this life if full of care

We have no time to stand and stare ?

No time to stand beneath the boughs.

And stare as long as sheep or cows.

Choose the correct rhyme scheme in the above stanza :

(A) abcd (B) abba

(C) aabb (D) baba

Which literary device is used in the second and third lines of the stanza ?
(A) Alliteration (B) Simile

(C) Metaphor (D) Personification

In Saxon strength that abbey frowned.

Which figure of speech is used in the above line ?

(A) Metaphor (B) Simile
(C) Personification (D) Epigram

I must confess that it my quest, I felt depressed and restless.
Which figure of speech is used in the above line ?

(A) Personification (B) Assonance
(C) Metaphor (D) Epithet

Thy soul was like a star, and dwelt apart.

Choose the correct option of the figure of speech which is used in the above line :
(A) Personification (B) Metaphor

(C) Pun (D) Simile
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FEHAWTITII0 HESH HTITehiere] forerd —

(A) =& (B) 9eH

(C) TEqTYUq (D) @
YT 31 ferehea: G | whiameff uy fasreuy anyer femifa | wdiemn: s &: 7
(A) FeraTeTRTSR: (B) wgfemheayshR:

(C) TYTIHHIH: (D) AT RIHI:

ST TR IECTIHET —

OB R IERE I BTG

(B) el HT{EhRI&vH,

(C) STeTehed =AATIHShRIAfTEu
(D) FremTeHERT NI STeTehe =FdTaitshrr e

frferfaan srafed merem snuriser w1 (81-85) FHIE=T: -

forgaTy: e e: A e | a9 e gomTey: fodata | aREarsHT: aRIeH Faf |

H: FAGl HUHHV T Wbl qordld | €: THem Hedl WaE Rl eI Sell- =
Icareaf | T T8 ekt YaqavTt 8F: add | | g e |

81.

82.

83.

“gaaaun” gegH THTE: ;7

(A) wgdife: (B) 3refivmE:

() e (D) dege: =5
“Fedl” 3T YT TeIATE & —

(A) hd + ol (B) % + ol

(C) Had+d (D) F + FA

“araTEmy” geA o faufed: ?
(A) v (B) wHi
(C) gt (D) g
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84. ‘Icqrcafd’ 3ouF IuE: Al —
(A) ad (B) 3d, 9
(C) 3¢ (D) =

85. “forvary: orereyeh: MY 31feq |7 31fem sl semmenfEd —

(A) FITHI: (B) fy
(C) 3feq (D) Fargama:
srefefiad vettey snurisa Freifendr: (86 —90) ToT: FaTeaT: —
w%: gauni | 2 3 g8,
6 1 32 Fafud gewam |
T T Tt GHE:
frerrg oy A 9 f& g 1)
86. “gavl:” souF HUE: ®: ?
(A) TCEY: (B) 3r=fivmE:
(C©) =3 (D) HITHATE:
87. “gu:" A W Iifed —
(A) I (B) wII-IE:
(C) HI-YIA: (D) faH-v3:

88. 3ITdFI-IAIh Beq: A1 fhy 7

(A) 3US: (B) g=zaa
(C) 3uZa (D) a9y
89. “fereiryg ooy = A fg gran:” seu farwrorae e — ﬁ
(A) fremg (B) T
(C) FwIg (D) @
90. “me:” oo forgmfea —
(A) wifergy (B) TqEhicTEE
(©) dfcersn (D) HefoTsq
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SECTION-IV /@Ug -1V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and

IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social

Studies as selected in the Online Application Form and answer all the 60 questions.

39 @UE § § IT@vE UM [V(a) T 9t fasm v 1V(b) amnfsres steem 2 | < STavel %
T | 60 sgfoshedta g # |

adieaeff 1 1V (a) TG aer fasma s1ar 1V (b) amfiie 1, fmeht ==m 3tfaersa sdeT-u3 o
feran 2, o 1 foreft weh Sw@ve i 1 B UE Wt 60 T HT ISR |

SECTION-IV(a) / @TE — [V(a)
MATHEMATICS AND SCIENCE / TTfora 92 fasm

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

WU T Fe 60 T 7 | o reafelii 3 5o fow o1 =5 foran 2 378 ovft o oo arfamd €

91. The factor of {x* — (x — y)4} is :

(A) y2x—y)(2x*—2xy +y?) (B) y(2x+7y) (2x% + 2xy + y?)

(C) x(2x-y) (222 -2xy—y?) (D) x(2x+y) (232 +2xy +y?)

(v~ y)*} F TS B =Es
(A) y(2x—y) (2¥* = 2xy +y?) (B) y(2x+y) (x> +2xy +y?) '
(€) x(2x-y) (2x* - 2xy - y?) (D) x(2x+y) (¥ + 2xy +y?)

92. The sum of two numbers is 22 and the sum of their squares is 404, then the product of
those numbers is :

(A) 44 (B) 80
(C) 36 (D) 40
<1 TSI T FRT 22 BN 3R 3% T H1 AT 404 1, TN 37 TEAT3T BT A 2 -
(A) 44 (B) 80
(C) 36 (D) 40
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94.

9s.

96.

PL-2

(66) PL-2

The sum of the digits of the minimum number by which 1800 is multiplied to get a perfect
cube number is :

(A) 2 (B) 6
< 5 (D) 4
I8 =™ TeAT fS@ 1800 <1 70N S T U gl T T 9T 2, 3 3ehi I A1 B
(A) 2 (B) 6
<) 5 (D) 4

41 1
If a sum of money becomes 20 of itself in 4 yearata particular rate of simple interest, then

the annual rate of interest is :

(A) 5% B) 7.5% E_EE

©) 10% (D) 2%
Eﬁlémmmﬁ@ﬁﬁqamiaﬁﬁaﬁm%ﬁm%ﬁmﬁaﬁﬁa%:
(A) 5% (B) 7.5%

€) 10% (D) 2%

In how many year(s) will ¥ 2,000 become T 2,420 at 10% per annum compound interest ?

(A) 2 years (B) 1 year

(C) 3 years (D) 2! years

10% AT =Ishafg = W T 2,000 foha a9 5 ¥ 2,420 &1 56 2
(A) 2ad (B) 1ad

(€ 3ud (D) 2% a4

If the selling price of 7 articles is equal to the cost price of 6 articles, then what is the
percentage loss ?

iﬂ 2(]"
(A) 713/{) (B) ]4?0
(©) 13%% (D) None of these
afe 7 a3t =1 fasa ge, 6 a3t % 3 qod & SUe &, af fhad wfawra w1f gnfi 2

9, 2,
A) T3% (B) 145%
© 133% (D) A

(67) A
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97.

98.

99.

100.

(67)

A bag contains ¥ 20, ¥ 10, T 5 notes in the ratio 3 : 4 : 5. If the bag contains ¥ 1,000 in
total, then the number of T 5 notes is :

(A) 32 (B) 25

(C) 24 (D) 40

T AT 20,310,355 A3 :4:5% U@ T 8 | Afe It H oA 99 2 1,000 &1, A T 5
& el H TR

(A) 32 (B) 25

(C) 24 (D) 40

If the sum of the numerator and denominator of a fraction is 55 and the value of the

. .3 .
fraction is ? then the fraction is :

20 10

=2 —_— EEE
(A) 35 ®) 75 o
(©) 5_50 (D) None of these

i faeft o 35 3 3iR we A 55 2 e form A S 2, 7 o 2

20 10
(A) 33 B) 13
5 .
©) 3 (D) T & rE e
If a transversal intersects two parallel lines, then each pair of corresponding angles is :
(A) Half (B) Double
(C) Equal (D) None of these
afe ueh fereieh 1@ g1 HTaE {@13Ti i Ufaese L, T FId HIv 1 Tedsh I B A
(A) 3T (B) €1
(C) (D) FHE T

The longest side in a right-angled triangle is called :

(A) Hypotenuse (B) Perpendicular
(C) Base (D) All of these
TR Bt T e o e B -

(A) ol (B) =

(C) 3R (D) FTaf
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101.

102.

103.

(68) PL-2

If in the given figure PS||QR, then the value of ZQPS is:

(A) 36° (B) 90°
(C) 54° (D) 100°
afe fedr 1 fea 9 PS|IQR &1, @ ZQPSHI UM R :

(A) 36° (B) 90°
(C) 54° (D) 100°

The sum of all the interior angles of a pentagon is :

(A) 360° (B) 500°
(C) 450° (D) 540°
g 3 T s Fo AR

(A) 360° (B) 500°
(©) 450° D) 540°

The radius of a circle is 6 cm and P is any point which is 10 cm away from the centre. The
length of the tangent drawn from P to the circle will be

(A) 6cm (B) 12cm

(C) 8cm (D) 10cm

U g 1 Foran 6 Tt @ aen s g B S s & 10 Bl gL R | P & g W w78 Tk
& F‘I'Ei'lé ﬁ"'ﬁ :

(A) 6uH (B) 12%H

(©) @ (D) 103
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104.

105.

106.

107.

(69) A

In a right-angled triangle, if its sides are 15 cm and 8 cm perpendicular to each other, then
its perimeter will be

(A) 40cm (B) 38cm

(C) 46 cm (D) 50cm

T g s |, Afg 38Rt qee 15 @it 3tk § wetfer v g % wwad @i, @ sEe
aftamy 2

(A) 40T (B) 38&H

(C) 46Tt (D) 50Tt

The arithmetic mean of 1, 2, 3, 4, .... n numbers will be :

w3 o o
© 35 (D) ";1 =k
1,2,3,4, ... n GG T GH T1F B0 "
(A 3+1 ®) "
© 3 ) 5

The difference between the upper limit and the lower limit of a class is called :

(A) Frequency (B) Mode

(C) Class size (D) None of these
fepeft i ot et e et foer < BT ST e @

(A) ST (B) wgeTh

(C) wfam (D) ST & I T
The co-ordinates of the origin are :

A) (1D (B) (-1,0)

©€) L-D (D) (0,0)

A) (1, 1) (B) (-1,0)

© 1,-1) (D) (0, 0)
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108.

109.

110.

111.

(70) PL-2

If a dice is thrown once, then the probability of getting a number greater than 6 is :

) 0 ®) ¢
© 1 D) =
Ife T UTHT Teh IR ISTAT AT 8, a1 6 T TSt TEAT 3 ht ITRrehan 2
A 0 ®) &
© 1 D) =

Which of the following statements is not related to the nature of Mathematics ?
(A) Mathematics is study of numbers, places, measurements, etc.

(B) Mathematics has its own language terms, concepts, formulas, etc.

(C) The knowledge of Mathematics is not logical.

(D) The knowledge of Mathematics is the same in the whole world.

o § R w1 e v <6t SRl & daifua T B 2 f—
(A) TIford H EETa, A, HioH 31 w5 3temeH TR S g | A
(B) IfoT 31 37O TS v, W, g MG B # |

(C) I <1 T eTfeheh T2 BIeT 2 |

(D) TIfOTd <1 ST | STTd § AHH 9 51 811 8 |

“Mathematics is the language in which God has written the Universe.” This statement is

told by

(A) Galileo (B) Locke

(C) Bertrand Russell (D) Lindsay

“arfora o v 2 e weva 3 geql ST A sEve @i o foan 2 |7 a8 e e s
(A) Trefifern (B) i

(C) &vs e (D) fored

According to Napoleon — “The progress and the improvement of Mathematics are linked
to prosperity of the state.”

This statement corresponds to which value of Mathematics ?

(A) Disciplinary value (B) Social value

(C) Aesthetic value (D) International value

TiferE % AR — “fora i 3=fd qen gfg <@ A Trar § Fafud 8 17 g8 %eF T %
fra e A geEfa g 2

(A) STIIATEATHS T (B) wMIfdH g

(C) HieaeHs qe (D) IFEE 7
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112. The author of the book “GANITA SAR SANGRAH’ is :

(A) Aryabhatta (B) Shri Dharacharya
(C) Pythagoras (D) Mahaveeracharya
TfOTd AR ETE AH T o TG @ -

(A) ImIwg (B) ft e

(C) UTSUTTRA (D) wEEN=ER

113. In which method by moving from ‘Particular to General’, we generate formulas in
Mathematics ?

(A) Deductive Method (B) Lecture Method

(C) Inductive Method (D) Project Method

for fafy & “faftre @ o’ i sIA gu e TRE A G H =T FAE ?
(A) T fafy (B) =& fafy

(C) 3 fafy (D) s fafy

114. The knowledge of which of the following is most helpful in painting ?

(A) Geometry (B) Statistics
(C) Arithmetic (D) Function
frerferfiga & & forgent T ferrepen 3 watfors g 2 7 =L
(A) TEmIfor (B) wifeah "
(C) IAHTvTE (D) e

115. Which of the following is not an evaluation method ?
(A) Interview (B) Preparation
(C) Questionnaire (D) Check-list
frforfiga & @ @ v qoarrd fafu 7 2 ¢
(A) HIETEHR (B) Il
(C) goATacAl (D) do-foe

116. The evaluation process is related to :
(A) Educational objectives (B) Ewvaluation method
(C) Learning experience (D) All of these
Hodreh TRt Tafed Bt 2
(A) Toreqor 3evai & (B) Heaieh wfafa &
(C) e srgva & D) FEHF
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118.

119.

120.

(72) PL-2

The purpose of diagnostic testing is :

(A) To guide learning methods.

(B) Classification of students according to difficulty level.
(C) Detecting lack of achievement in particular subject.
(D) All of these.

g wier w1 39T B

(A) 31eae ughaat o fen-frdw & |

(B) HISATE T o ST W BTAT BT fiehtol LT |

(C) T fersr 3 Swefe <By <het <h ot @A | =S
(D) FTeft | "

Which method follows the principle of a process of combining different statements or
parts to get something new ?
(A) Lecture method (B) Heuristic method

(C) Analytic method (D) Synthetic method
foru fafu # 32 71 w0 e & o fafi et =1 vt & S i vfrn & frga &

T BT B 7
(A) =M fafy (B) elftfees fafa
(C) Taerm fafy (D) Hersor fefy

If (/3)° x 92 = 3% x 33, then the value of x is

(A) 4 (B) 5
€ 6 D)y 7
Al (\3) x 2 =3 x 13, AxFAAER :

(A) 4 (B) 5
©) 6 D) 7

1 1
If (x - —) =8, then the value of (xz - —] is :
x X2

(A) o4 (B) 68
(C) 66 (D) 4354
aﬁ[x—a=8_@,?ﬁ(x2+x%]$lqﬂ%:

(A) 64 (B) 68
(C) 66 (D) 4354
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121. The value of x in the given diagram is :

Normal
Incident Reflected
ray ray
300
Plane Mirror
(A) 15° (B) 30°
(C) 90° (D) 60°
fea ma fo 9§ x 1 A B
wifiera
Fmafaa wEfda
et ferrm
30°) x
auee gdu
(A) 15° (B) 30°
(C) 90° (D) 60°
122. The frequency of a sound source is 50 Hz. In 2 s number of vibrations will be :
(A) 25 (B) 50
(C) 100 (D) 200
fopeft eafr & 1 a1afed 50 Hz 2 | 999 2 s el 31 e &t
(A) 25 (B) 50
(C) 100 (D) 200 —
123. LED emits Light : s
(A) Only green colour (B) Only red colour
(C) Only yellow colour (D) All of these
LED JehTel 3cdfoid idl & :
(A) el BT (B) et ofrel 11
(C) <haa e (D) A g
124. Which of the following is not a member of the solar system ?
(A) An asteroid (B) Meteors
(C) A satql]ite (D) A comet
frrferfiga 3 & S g giEm w1 gee TE 2 7
(A) R (B) 3T
(C) vmE (D) g
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127.

128.

129.

130.

(74) PL-2
Laboratory method is based on which principle ?
(A) Learning by seeing (B) Learning by doing
(C) Learning by rote (D) All of these
warmreren fafyr fore frgra w snurfa 2 ¢
(A) @R HE (B) e diE
(C) TewtHEE (D) &
Synthetic fibre among the following is :
(A) Nylon (B) Cotton
(C) Wool (D) Silk
Frafafea & @ gvafamn 2
(A) TEAN (B) wuTE S
©) 3 (D) wm &2
The symbol of potassium element is :
(A) P (B) Po
©) Pt (D) K
T YR a1 i B
(A) P (B) Po
(C) Pt (D) K
Chemical formula of aluminium nitrate is :
(A) AINO; (B) Al (NOy),
(C)  AL(NOy), (D)  AL(NO,),
tafufrem Tgde w1 TEEE g R
(A) AINO, (B) AI(NO,),
(C) AL(NOy), (D) AL(NO,),

Which of the following mixture can be separated by the winnowing method ?
(A) Mixture of grain and husk

(B) Mixture of grain and pebbles

(C) Mixture of wet sand and pebbles

(D) Mixture of sand and water

fraferfiaa 3 & o a1 fagor frsarem fafy gro g form s oo 2 7
(A) IT=THUT AT 3@ <1 firsror (B) 3T=TehYT AT Shehg 1 fHmT
(C) Tiieh fdt aen serg w1 Mz (D) Tt qem urht 5 o

Synthetic indicator among the following is :

(A) Litmus (B) Turmeric

(C) China rose petals (D) Phenolphthalein
fr=fefga 4 @ gwfa g+ 2

(A) forema (B) e

(C) Teed i gfeat (D) eI
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132.

133.

134.

135.

136.

(75)
The pair of green-house gases is :
(A) 0,,CO, (B) CO,,N,0
(C) N,,CH, (D) 0,,H,0
ENA-TE AEi FI W R :
(A) 0,,CO, (B) CO,, N,O
(C) N,,CH, (D) 0O,,H,0
Audio-visual teaching aid among the following is :
(A) Radio (B) Chart
(C) Television (D) Blackboard
frafafea § @ yor-gv e aem 2
(A) e (B) = oR
(C) e (D) TAMILL B
Which bacteria is found in roots of leguminous plants as symbionts ?
(A) Rhizobium (B) Bacillus
(C) E.coli (D) Achromobacter
Srgfita et i ST H B | ST dEsiiet % 9 H 9 @ g ?
(A) TEsiifem (B) afte™
(C) E.HITS (D) ThMESFRT
Which edible part is modification of stem ?
(A) Turnip (B) Carrot
(C) Sweet Potato (D) Potato
= 1 8 1 o1 WS 9ged @ R ETRT R 7
(A) SleTaH (B) TN
(C) Thish (D) AT
Which of the following is a simple tissue ?
(A) Xylem (B) Phloem
(C) Sclerenchyma (D) None of these
7 5 8 o T Had @
(A) STTee (B) TAICH
(C) TEheilehTgaT (D) 39 9 HIE TEl
Which of the following is not an air pollutant ?
(A) Carbon mono-oxide (B) Nitrogen oxide
(C) Methane (D) Oxygen
= 1 8 P 9 5T AE @ 7
(A) TS THI-3TTFE5S (B) TESISM JTETES
(C) 7w (D) it
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138.

139.

140.

141.

(76) PL-2

Sacred groves are found in

(A) Khasi and Jaintia hills of Meghalaya
(B) Aravalli hills of Rajasthan

(C) Western ghats of Maharashtra

(D) All of these

gfers 39eH aTe 9d 8

(A) e i et 9 sEfEn et o
(B) TorErH it wraelt vdd Raer |

(C) WENTE % ufvaHt are 4

(D) &M

Which bacterium causes pleurisy disease in human ?
(A) Mycobacterium tuberculosis

(B) Corynebacterium diphtheriae ERE
(C) Mycobacterium leprae w3
(D) Neisseria gonorrhoeae

HH Y G & 7G| Rl IR ?

(A) HIEHEFITE TSR
(B) whitHaFfEm fewerars

(C) wEhEFITET Tl

(D) fredfen TRt

Which type of sebaceous glands present in human skin ?

(A) Apocrine (B) Merocrine

(C) Holocrine (D) Eccrine

TG T <l Al HfEt i | gehr i gt 8 7

(A) TR (B) TRIshTET

(C) B (D) T

Disease caused by deficiency of Vitamin A is :

(A) Night-blindness (B) Beri-Beri

(C) Scurvy (D) Rickets
oA Hafiasracnime:

(A) rd (B) wl-=ft

(C) Tt (D) FereE

In which phase of cell cycle, synthesis of histone protein occurs ?
(A) G;-Phase (B) S-Phase

(C) G,-Phase (D) M-Phase
HITITRT =5k 1 HH T TTewd § & A 1 Heeivwl 21 2 ?
(A) G,-JmEen (B) S-urerERq

(C) G,-JmEen (D) M-H=EN
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142. When was the Family Planning (Family Welfare) Programme started in India ?

(A) 1947 (B) 1951
(C) 1958 (D) 1960
Rd # afEr e (afEar seamn) SRl 6t 763d e g8 off ?
(A) 1947 (B) 1951
(C) 1958 (D) 1960
143. Which of the following hormone supports pregnancy ?
(A) Insulin (B) Adrenaline
(C) Melatonin (D) Progesterone
frferfiga o & = @1 g swaar § gges 2 7
(A) Fgfer (B) el
(C) Werdf (D) ISR
144. Which of the following is not an example of Kharif crop ?
(A) Cotton (B) Soyabean
(C) Maize (D) Pea EEE
frfefaa § & =i @1 @liv 6 S8 51 e TE @ ? [
(A) ™ (B) wHImEH
(C) ekl (D) HX
145. Which of the following is not a scientific teaching method ?
(A) Anecdote method (B) Evaluation method
(C) Psychophysical method (D) Questionnaire method
fafafaa # & @ i v St e fafy 72 2 ¢
(A) et fafy (B) TeaTehA fafy
(C) THTefE fafy (D) wvATEe fafy

146. The main objective (aim) of evaluation is :
(A) Removal of students errors.
(B) Measurement of students achievement.
(C) Give promotion of students.
(D) Diagnosis and treatment of learning deficits.

oo o1 §&T 339 &
(A) Toenffei i gfeai freprer |
(B) Torenferart it 3uafedr =61 v |
(C) Twenfef=i =1 w=ife UM =T |
(D) Hrg &t ot &1 e v 9= T |
147. Which teaching aid is not included in the audio-visual equipment ?

(A) Movie (B) Television
(C) Laptop (D) Epidiascope
I 1 fareror—wgrres arfl, et -9 3T § aftirferd T § 7
(A) =t (B) efifasm

(C) Wwem (D) Fem-forars
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149.
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Correct decreasing order of friction forces is :

(A) rolling, static, sliding (B) rolling, sliding, static
(C) static, rolling, sliding (D) static, sliding, rolling
PLUERIE KRl

(A) wrete, wfae, g (B) wiefa, @i, wéfeh
(C) wiferen, Arefes, Tl (D) e, aff, wrefie

An object is moving on a circle of radius R. When it completes half circle, then the

distance and displacement travelled by it will be :

(A) nR,R (B) 2nR,R

(C) 7R,2R (D) 2nR,2R

U a5 R s & g W foHE 2 | 99 98 31Egd W HA 8, dl 36 gR 9 H 5 g A
fereerma &rm -

(A) nR,R (B) 2nR,R

(C) 7R,2R (D) 2mR,2R o

A wooden spoon is dipped in a cup of ice-cream. Its other end
(A) becomes cold by the process of radiation.

(B) becomes cold by the process of convection.

(C) becomes cold by the process of conduction.

(D) does not become cold.

TG I T T BT I & WIS | a1 01 B | 3HRT gE
(A) Tafertor i afspan = o 31 & s |

(B) Heaga <t ufshan & o 381 8 S |

(C) et <t UfshaT 3 SRl 31 81 ST |

(D) 31 & & |
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SECTION-IV(b) / @US — IV(b)
SOCIAL STUDIES / THTTeh 3TE44

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

T @UE 1 o 60 T 2 | T sreafifani 4 g fowm o6 = fopan & 378 @it womt o srforemd 2 |

91. Which Buddhist text contains a dialogue between, a king named Avantiputra and a
disciple of the Buddha named Kachchana ?

(A) Deegh Nikaya (B) Khuddak Nikaya

(C) Majjhima Nikaya (D) Anguttar Nikaya

Teh TS A 3 §g & A il & offl Gag A A g T H R 2
(A) & e (B) Geh e

(C) wfsem Fepra (D) AR frhr

92. Which Buddhist text contained a set of rules and regulations for those who joined the
sangha or monastic order ?

(A) Vinaya Pitaka (B) Sutta Pitaka
(C) Abhidhamma Pitaka (D) Jataka EEE
1 & g v & g o o v Ay it 3 fore femdt w4 e o ¢ =
(A) o fres (B) gl fuesh
() afiyerm fuess (D) Ta®
93. Which is included in the six school (Shaddarshan) of Indian Philosophy ?
(A) Satyaarth Prakash (B) Vaishesika
(C) Mahabharata (D) Upanishad
Tl 2o ol - T (Vgew) § i e & 2
(A) Foref ST (B) Hfrw
(C) WeETRd (D) 3afreg

94. Who came to India during the Mauryan period as the ambassador of the Greek ruler of
West Asia named Seleucus Nicator ?

(A) Fahien (B) Xuan Zang

(C) Itsing (D) Magasthenes

afvam ufere & AT ST Hogsha ekt & TG 9 § HIdehel § WId i 3T 7
(A) ®RIH (B) & &

(C) fem (D) e
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96.

97.

98.

99,

(80) PL-2

State the complete true statements about Arikamedu.

(I)  Itis located in Puducherry.

(II) Arikamedu was a Coastal settlement.

(IIT) Other finds include pottery such as amphorae.

(IV) Items related to the Greek Empire have been found here.
(V) The kings here were Chera Dynasty at that time.

(A) LIl (B) LIV, V
(C) IV, V,1 (D) V,IV,1
Jrftepg o fow # qof g em Fau |

() T8 ggad o ferm o |

(1) TferTg TETEgUl TeE o |

(1) =&l U 38 ar et € |

(1V) T T T & Fafed awqu fief 2 |
(V) FRISTm=Ram g |

(A) 1L 11 (B) IILIV,V

(C) IV, V,1 (D) V,IV,I

The Chinese Pilgrim ‘Xuan Zang’ lived in the court of which King ?

(A) Chandragupta (B) Samudragupta g E!
(C) Harsha (D) Kanishka Ex:
<t e ‘v P T S TER A R Y 7

(A) 5T (B) EHITA

(€) W (D) Hf=H

In which play we find an interesting description of the plight of a poor fisherman in Gupta
period ?

(A) Harshcharit (B) Abhigyan Shakuntalam

(C) Mudrarakshasa (D) Mrichhakatikam

S T A1eh § 7H HIA § Teh TS TG b T1Y TAHHATE b G i §1d Fal 55 & 7
(A) = (B) AN ¥MHe

(C) Hzm&E (D) Hehiehn

Where is the temple of “Bhitargaon” situated ?

(A) Uttar Pradesh (B) Bihar

(C) Orissa _ (D) Bengal

“forquia” 1 it FaEf W R B 7

(A) ST JeH (B) faEm

(C) IEmm (D) =M

By what name are the teachings of Shankardeva who was the main propagator of
Vaishnavism, addressed in the late fifteenth century ?

(A) Vallabh Dharma (B) Krishna Dharma

(C) Guru Sandesh (D) Bhagavati Dharma

gl YIaTed! % IS W ieted, S AW o % g T 9, % 3Iewl # fhg AW |
Heifed fepam smar 2 ¢

(A) dooy gy (B) Fd

(C) TETA (D) rerett o
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100.

101.

102.

103.

104.

105.

(81)
What was Khud-kashta and Pahi-kashta in Mughal period ?
(A) Types of Revenue (B) Types of Crops
(C) Types of Administration (D) Types of Farmers
TiTTehTel H Geehred d UTfeshred 11 9 ?
(A) T & TR (B) WHAAI % THR
(C) T9IEH o YR (D) TFTl & TR

What was the relation of “Manzil-abadi”, “Sipah-abadi” and “Mulk-abadi” during the
Mughal period ?

(A) Part of Book (B) Portion of the Population

(C) Part of Revenue (D) Part of Administration

PRIl § “Hie-3aTd)”, “faag-merdl” 9 “qesh-3mare)” o qay fee o ¢

(A) T & 9T (B) SHEAT & W

(C) TSEE & W (D) SITTEA & 9T

Who got the book published under the name “Stripurushtulna™ ?

(A) Tarabai Shinde (B) Pandita Ramabai

(C) IJyotirao Phule (D) Rashsundari Devi

FEIgeT A9 § fohara feraa TeRTfyra HtaTg ¢ _—
(A) awETs fRie (B) dfear TS okt
(C) SAfeua Bt (D) Trged ¢t

When was the parallel government (Prati Sarkar) established in Satara, Maharashtra ?
(A) 1941 (B) 1943

(C) 1945 (D) 1947

TERTSZ 3 GaT & TR Geebm (Sl R o1 T b 1 T 7

(A) 1941 (B) 1943

(C) 1945 (D) 1947

Which word is not given in Preamble of the Constitution of India ?

(A) Belief (B) Faith

(C) Worship (D) Language

WA o WiGe =1 32f3ret # i |1 vreg T8 fezm mn B 7

(A) Tawamm (B) wud

(C) 39rEAl (D) 9l

When was Street Vendors (Protection of Livelihood and Regulation of Street Vending)
Act came in force in India ?

(A) 2010 (B) 2011
(€) 2013 (D) 2014
e # 7Y fershan (Sfiferemt gwen sk vy fasra faformm) stfefem e @mpgan ¢
(A) 2010 (B) 2011
(C) 2013 (D) 2014
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107.

108.

109.

110.

111.

112.

(82) PL-2
“The Idea of Residual Powers” provision in India is adopted from which Country’s constitution ?
(A) British Constitution (B) United States Constitution
(C) French Constitution (D) Canadian Constitution
“ sraiferee wifeEt 1 fagia’ w1 wraHe vRd § fhe g % dfaum @ fernmn g ¢
(A) Tafews afgam (B) 3ttt & wfaum
(C) v % |iaaH (D) TSI & TAIH
In India after the death of President Fakhruddin Ali Ahmed who acted as President of India ?
(A) B.D. Jatti (B) V.V.Giri
(C) Zail Singh (D) N.S.Reddy _
A | TIfd BEEEH 3Tell ST8HE 1 og o a1¢ HRIdTEsh Usguld o &9 | fore rl fopan ?
(A) .. S (B) .. firdft
(©) e fae (D) T.wE. &
Which two states have same number of Lok Sabha Constituencies ?
(A) Uttarakhand, Jharkhand (B) Kerala, Karnataka
(C) Andhra Pradesh, Rajasthan (D) Punjab, Odisha
form1 31 sl Y reRE ate - & i TEn e R 7
(A) TWEE, FRGS (B) A, HAlCH
(C) 3T JeHT, TSey™= (D) YT, 3nfesm
Toll free Helpline Number for Children who are in need of care and protection is —
(A) 1095 (B) 1096
(C) 1097 (D) 1098 ey
F=31 6t giaen ud Heg & fore f:3eh Feuaims T 8 — Gtz
(A) 1095 (B) 1096
(C) 1097 (D) 1098

In India which Constitutional Amendment determined the size of the Council of
Ministers ?

(A) 81 (B) 91
(C) 101 (D) 102
I # fopm dfaram g g afafieg w1 smer fFuifa femer mm ¢
(A) 81 (B) 91
(€) 101 (D) 102

In 1989 which Committee recommended Constitutional recognition for the local
government bodies ?

(A) P.K. Thungan Committee (B) B.R. Mehta Committee

(C) Ashok Mehta Committee (D) Sadik Ali Committee

1989 ¥ forg aftrfa 7 Torrfia sme & frerri 1 Gautfaes <=1t weH ot 6 farier 6 7
(A) %, g gfufa (B) ff.3TR. Wgar afufa

(C) 3Tl Tgan affa (D) @feen 3reft afafd

‘Abolition of titles” is a part of which Fundamental Right ?

(A) Right to Equality (B) Right to Freedom

(C) Right Against Exploitation (D) Cultural and Educational Rights
Iurfri o 37’ form wiferen stfeehm =1 famm 2 7

(A) AT HT HAIHR (B) TGl T HATIHR

(C) o & fawg 3rferpm (D) TEHide TR Afereh iR
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113. Identify the correct group of Scheduled languages in the Eighth Schedule of the
Constitution of India.

(A) Bengali, English, Sanskrit (B) English, Hindi, Sanskrit
(C) Santhali, Hindi, Sanskrit (D) Gujarati, Marathi, English
A o Tfau™ 6 e g § srgia Tt % g€ g S Tga |
(A) e, A, T (B) 3t f&d, e
(C) Furet, f&dt, weapa (D) T, HUST, S
114. The circle that divides the day from night on the globe is called —
(A) Circle of illumination (B) Equatorial circle
(C) Elliptical Orbit (D) Summer Solstice
oie T g g S o7 va ua i favfora s 7, waermar & -
(A) wéfe g (B) HeREHE I
(C) CreigaThR T (D) 3T A
115. Katabatic winds blows from —
(A) From Valley to Mountain (B) From Mountain to Valley
(C) From Sea to Land (D) From Land to Sea
ITeRIET Ted yafaEd Bl & —
(A) =T ¥ ved I TE (B) e ¥ U il T EEE
(C) HYg % Tl &l % (D) T | Tz H T B
116. Approximate Extension of the shadow zone of S-wave is —
(A) 105°to 145° (B) 105°to 105°
(C) 145°to 145° (D) 90°to 90°
S—TT & BT & 1 Fered” T 8 —
(A) 105°H 145° (B) 105°# 105°
(C) 145°F 145° (D) 90° & 90°
117. On which beach is Kayal located ?
(A) Malabar Coast (B) Konkan Coast
(C) Kathiawar Coast (D) Coromandel Coast
FaTel fepe de W@ 8 7
(A) WA T2 (B) iU a¢
(C) HIfSImETS T (D) HHes a2
118. Batholiths, Lacoliths, Lapolith and Phacolith are related to
(A) Earthquake (B) Volcano
(C) River (D) Gravitational force
Sty Sepifary, Sifay a Seifory grafd 8 -
(A) ¥FHE (B) aTeTE &
(C) IaF (D) T[Ty & |
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120.

(84) PL-2

Which statements about the “Faience” are true ?

(I)  Faience mines have been found in Mehrgarh.

(II) Faience were found naturally.

(TIT) A gum was used to shape sand or powdered quartz into an object.
(IV) The objects were then glazed, resulting in a shiny, glassy surface.
(V) Faience was used to make beads, bangles, earring and tiny vessels.
(A) LI I (B) 1L 1L, IV

(C) MNLIV,V (D) IV, V,I

P FIRHABA AR A E ?

(I) I8 6 TeH tewre | firefi # |

(1) -] JTehfceh TR T 910 A1d ¥ |

(1) STe] 1 THiEeh Teark < T0f i TG H frerrert 378 awqd a8 St off |
(IV) 3% 91¢ 37 TEG3T T U Tl wa =rers aret off |

(V) I A, gfedt, gueh 3R B 99 ST A1 9 |

(A) LILII (B) IL I, IV

(C) UL IV,V (D) 1V, V,1 mEm

Which statements are true about Rigvedic period ?

(I)  Soma was a plant.

(IT) Brahma, Vishnu and Mahesh were the main deities.
(IIT) Called Sukta or “Well Said”.

(IV) Upanishad and Aryanak texts were composed.

(V) Indra was not the god of warrior.

(A) L1 (B) 1L 1V
© W,V D) LV
FIdTeeh el o NI HA A FAT TS 7

(I) ™ U grer o |

(I1) i, ooy & wrewr o gara 9 |

(1) o 1 FacTs, T=S! TE & Srefl T 7 |
(IV) 3UfSE 9 30T 09 =T 9 |

(V) % 3G I TG <ol & T |

(A) L1 (B) IL IV
(C) IV,V D) LV
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121. Match the following forests and trees :
Forest Tree
(1) Tropical Evergreen (a) Spruce
(2) Tropical Deciduous (b) Palm
(3) Montane (c) Mahogany
(4) Mangrove (d) Sal
m @ G @
(A) (d (© (@ (b)
B) () (@ (b (2
© (© (@ (a (b
(D) (@ () () (d)
Frerferfan o o g4 1 gt it
9 g8
(1) 3IVHRTHE TR (a) TE
(2) IWRCEEig Tt (b) AT

(3) wEdE (c) WERH
(4) Hoa (d) gt
n @ & @
(A) (d) (¢) (a) (b) ERE
(B) () (d) (b) (a) [OF g

€ (© @ @ (®
D) @ ) © (@

122. Which of the following is a group of Iron ore belts in India ?
(A) Singbhum (Jharkhand), Bailadila (Chhattisgarh), Nellore (Andhra Pradesh)
(B) Kudremukh (Karnataka), Mayurbhanj (Odisha), Bokaro (Jharkhand)
(C) Bokaro (Jharkhand), Bailadila (Chhattisgarh), Mayurbhanj (Odisha)
(D) Mayurbhanj (Odisha), Singbhum (Jharkhand), Bailadila (Chhattisgarh)
frafafaa § @ = @1 yra | oig s e Hagg 2 ?
(A) foam (@), sonfean (Sdtamg), Toar (30Y Jew)
(B) Foq@ (Frieh), HUIS (3nfeam), siepmdl (3mis)
(C) FhHl (JTEE), SeATSe (Terame), TR (3fifeam)
(D) Tt (sffeam), Riem (sm@), sefeen (Stee)

123. In which direction the Aravalli range extends in Rajasthan ?

(A) South-East to North-West (B) North-West to South-East
(C) South-West to North-East (D) North-East to South-West
TSTe # Srreret geiaen foha fem # foreqd € 7

(A) <feor-ud ¥ sar-ufvam (B) I-ufvem & gfeur-gd
(C) cfeur-ufvem @ Im-T= (D) M- T fegu-ufeam
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124. Match the following district and climatic regions :

District Climate region
(1) Jaisalmer (a) Extreme humid
(2) Jaipur (b) Humid
(3) Sawai Madhopur (¢) Semi-Humid
(4) Jhalawar (d) Dry

n @ 6 @
A © b @ (@
B) @ (© @ (©®)
(©) (@ () (o) (a)
(D) (d) (c) (b)

ﬁnﬁiﬁaﬁﬁlﬁ@mmﬁsﬁﬁgﬁﬁmﬁﬁq
forem ESEIRBCH

(1) SEerr (a) sAfa-3ms

(2) TIE (b) 3

(3) HETS HIHTR (c) 3U-33

(4) eraTe d) T

mn @ Q& @
(A) (¢) (b (a) (d)
(B) (d) (c) (a) (b)
(€) (d () (¢) (a)
D) d () (b)) (@

125. Which of the following are correct statements with reference to district and projects ?
(1) Chittorgarh — Rana Pratap Sagar Dam
(2)  Ajmer — Bisalpur Project
(3) Udaipur — Mansi Vakal Project
(4) Pratapgarh — Jakham Project

EEE
OfeH

(A) (1), 3), (4) (B) (1),(2),(3)
(2), 3). (4) D) (1),(2).4)
ﬁ?nqa & T | fHfretied § & % A HeA Tl € ¢

(1) faxiteTe — Ton Ia9 grr |y

(2) IR — FrFerg gfEe

(3) 3T — AT FTehet TR

(4) AT — SATEH YT

(A) (1),3), % B) (1),(2).3)

© 2).03).,4 (D) (1), (2). 4
126. In which Crops Rajasthan is the top producer in India ?

(A) Mustard, Chickpea, Dewgram

(B) Psyllium husk, Cumin, Cluster bean

(C) Chickpea, Green gram, Black gram

(D) Green gram, Maize, Pear]l Millet

fo1 warcl oh IeaTe T TSR T R H TUH T R 7

(A) HTEI, =41, 7S (B) S, ST, S9R

(C) =1, 91, 358 (D) HT, 5T, ST
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127.

128.

129.

130.

131.

132.

133.

(87)
During 2001-2011 Population growth rate of Ganganagar district is —
(A) 10.0% (B) 16.9%
(C) 32.5% (D) 213%
2001 & 2011 &t & A TR et 6 Saen gfg et -
(A) 10.0% (B) 16.9%
(C) 32.5% (D) 21.3%
Which ruler of Mewar was given the name of “Vishamghati Panchanan’ ?
(A) Rana Hamir (B) Rana Lakha
(C) Rana Kumbha (D) Rana Udai Singh
“Seraendt e 6t | HaTs o e wmEe i @ S ot 7
(A) T BHR (B) TOT SATEIT
(C) Tom (D) Tom 3EAfdE
Who was the Maharana of Udaipur at the time of revolt of 1857 ?
(A) Jaswant Singh (B) Swaroop Singh
(C) Udai Singh (D) Ratan Singh
1857 I i o THI I o RNV i o ?
(A) TEEdiEE (B) w@®EUfiE
(C) 3eatdg (D) TaraE
Where was the third session of “Rajputana Madhya Bharat Sabha™ held ?
(A) Nagpur (B) Jaipur
(C) Ajmer (D) Delhi ERE
“TAYATT Hel WRA G151 e SATereeH Hal T E3T ? (=
(A) AR (B) SEIT
(C) 3T (D) feoeht
Who was made the Prime Minister of Greater Rajasthan ?
(A) Haribhau Upadhyay (B) Gokulbhai Bhatt
(C) Hiralal Shastri (D) Tikaram Paliwal
“Fad TTEAH" o1 TLHHA febdt s mam o 7
(A) BRTS Iwem (B) TIHTTE 9g
(C) ERreret S (D) iR reftaret
Who is known as “Banasur ka Shaheed” ?
(A) Kesari Singh Barahath (B) Major Saitan Singh
(C) Pratap Singh Barahath (D) Havildar Major Piru Singh
“STUTER 1 TTETE” A9 & S F1 Yq@ e JTH1 a1 2 2
(A) SEliftE aEs (B) U SafiE
(C) YAMfHE SRES (D) EaeieR R fiefas
Who built Churu Fort in 1739 ?
(A) Jaswant Singh (B) Rai Singh
(C) Kalyanmal (D) Thakur Kushal Singh
=5 g 1 A1 1739 § fope waam ¢
(A) SHediHE (B) TAfhE
(C) HeAIHA (D) 3T Fuet g
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135.

136.

137.

138.

139.

140.

(88) PL-2
Tulsi, Haalro, Timaniyan and pot ornaments are worn by women in which part of their
body ?
(A) Head (B) Neck
(C) Hand (D) Waist
qert, grer, femforat a2 did Armeh Smyyor Higers T gRI I < i ¥ 91 W 9E 9 3 ?
(A) fm (B) el
(C) =™ (D) W
Which Film has been made on the book “Duvidha” by Vijaydan Detha ?
(A) Mumal, Phulwari (B) Alekhu Hitler
(C) Duvidha, Paheli (D) Uljhan, Suljhan
ﬁaaa:{émaﬁw gfau” wHA € fben w1t G g 2 ¢
(A) T, BEErT (B) 3oy feeer
(C) e, wae (D) IATH, GeTsH
“Hela Khyal” is a folk theatre from which region of Rajasthan ?
(A) Dausa (B) Bikaner
(C) Sikar (D) Barmer
“FA TATA” ATHE TAeh 1A USTEH o i § &3 § §a9a 8 ?
(A) @ (B) R
(C) (D) WTEH
What is Patelya, Bichhiyo, Lalar, and Machar ?
(A) Famous songs of Mewar (B) Famous songs of Marwar
(C) Famous songs of Mewat (D) Famous songs of Hadoti
e, Sifedl, Ao 9 At I E 2 E%
(A) WaTS % wfgg e (B) WRETS % ftg ifia &=
(C) Werma = gftrg T (D) grerd & uftg T

“Social Science as a general term for all the sciences which are concerned with the human
affairs.” This is defined by

(A) Seligman (B) Mitchell

(C) Fairchild (D) Peter Lewis

grTieren fasm 37 aeft fasri & for ues o viee % ©9 § S W mwel § gafd 8 17
RERICILCRERIKICIES

(A) HefmHa g (B) T gmn

(C) =Tgee g (D) et wfew g
Which of the following is an Audio — Aids ?

(A) Linguaphone (B) Over Head Projector (OHP)
(C) Epidiascope (D) Bulletin Board
fadas &t g ammft 2 ¢

(A) foamE (B) 3TaiEE Tieael

(C) To= forames 7= (D) gerfeaard

Which one is not a type of project method given by Killpatrick ?
(A) Constructive Project (B) Destructive Project
(C) Problematic Project (D) Practice Project
T8 & B 91 U oherifes g e e qiEs & SRR A6 2 7
(A) TEATHS FIRISHT (B) faews ufEsn
(C) THEITeH IREFSHT (D) 37V g
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142.

143.

144.

145.

(89)
Who propounded the linear programmed instruction ?
(A) Norman A. Crowder (B) B.F. Skinner
(C) Thorndike (D) Thomas F. Gilbert
& sfiskfia sreeH 1 wfaure fhem o 2
(A) HTHA T, 13T (B) .U%. Wh
(C) uTieTsh (D) e U, fied

Which one is not a limitation of assessment ?

(A) Lack of time

(B) More importance to the competition

(C) Conceptual error

(D) Freedom from fear and stressful environment

T iF Hi Tep ko i Ha T8 2 ?
(A) EF H FHH (B) wftreryt 1 a1 we
(C) HehoTcHs Ife (D) 99 T qAEgYl afew & gt

Which one is not prerequisite of lesson planning ?

(A) Knowledge of subject

(B) Knowledge of learner family background EREE
(C) Knowledge of child psychology [OF 75
(D) Knowledge of methods and techniques

I H T 13 AT i gatien T R 7
(A) Fowa w17 (B) fermaeral <l TiitaTies ey &1 9
(C) ST HAIfeTH 1 39 (D) faferi (freqor) wa qeefiht &1 39

Which one of the following is correctly matched ?
(A) Socrates — Instruction method

(B) Plato — Questioning method

(C) Herbert Spencer — Dialectic method

(D) Aristotle — Deductive and Inductive method

T o & <1 uek T gafera 2 7
(A) gt — freem faf

(B) wial — yvAre fafyr

(C) TE T — Fae fafy

(D) 3] — 3 3R Frme fafy

Which one is not a general objective of teaching of social studies ?

(A) Acquaintance with the environment

(B) Interest in socio-economic institutions

(C) Appreciation of cultural heritage

(D) Appreciation of caste system

S |1 T HHT S 18701 &1 9= 329 T8 @ 7

(A) TITER & uftfaa g (B) HTHISeh - 311Teeh Eemi § wfy
(C) Hreapide forraa i wua (D) STfer-wem <ht g
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147.

148.

149.

150.

90)
How many steps are suggested for solving a problem ?
(A) 2 (B) 3
© 5 D) 7
TG % T % foe feraw =ont o1 ggma femmmn @ 7
(A) 2 (B) 3
(C) 5 (D) 7
From which layer of the atmosphere do radio waves come back ?
(A) Stratosphere (B) Mesosphere
(C) Ilonosphere (D) Exosphere
el i A 1 e T & AT o E 7
(A) wHAM TEA (B) T O
(C) 3T U (D) =T’ HSA

Which of the following cyclone is called water spouts in sea ?

(A) Typhoons (B) Hurricanes

(C) Willy-Willies (D) Tornado

=1 1 & fopm wrhaTd 1 WHg T S WY HEd 8 7

(A) 2TERA (B) &l

(C) focfi-faeiar (D) ARSI

Which of the following currents are cold currents ?

1. Labrador current 2. Oyashio current
3.  Benguela current 4. Alaska current
(A) 1,2,4 (B) 1,2,3

) 2,3,4 (D) 1,3,4

freferfaa amst 4 8 = @ 3 g & 2

. SEER 9/ 2. frfyE O
3. Suen 9w 4. ITATERT 9T
(A) 1,2,4 (B) 1,2,3

) 2,34 (D) 1,3,4

During the time of perigee the tidal range is —

(A) Equal to normal (B) Less than normal

(C) Greater than normal (D) None of these

30y % 9T SR A BT B —

(A) HH & ST (B) MY HH

(C) T ¥ 3ferss (D) 398 H IS T&l
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